Expandlng Find the GCF of each polynomial
(multiplying, Distributive Prop,
removing parentheses) 32m* + 8m?

4a3ba%-7) = 20a°-28a° 63g° - 369

R/ Ser -9,

Factoring

( Division, putting parentheses back
into the problem, taking out the GCF)

Find the GCF of each polynomial
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Factor:
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Factor each polynomial using the GCF Factor.
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Factor. You can now do Hwk #13

Sec 9-2

36p°q°r” - 54pg°r® + 90p>q*r? e

Problems 2, 8, 9, 19, 20, 22-24, 38
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Sec 9-3 Multiplying Binomials FOIL Method

(e+3)(e+7)

Expand
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Distributive Property The Box Method
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